The publisher of a sports magazine plans to offer new subscribers one of three gifts: a sweatshirt with the logo of their favorite team, a coffee cup with the logo of their favorite team, or a pair of earrings also with the logo of their favorite team. In a sample of 500 new subscribers, the number selecting each gift is reported below. At the .05 significance level, is there a preference for the gifts or should we conclude that the gifts are equally well liked?

          Gift 



   Frequency

Sweatshirt …………………………
183

Coffee cup ………………………...
175

Earrings ……………………………
142
SOLUTION

Ho: Bs = Bc = Be

H1: The proportions are not equal.

df = 2

Reject Ho if(2> 5.991.

Gift
   fo
  fe
  fo- fe
(fo- fe) 2/fe



Sweatshirt
183
166.67
16.33
1.6000


Coffee Cup
175
166.67
8.33
0.4163


Earrings
142
166.67
-24.67
3.6516

Total
500
500.00
0
5.6679

Ho is not rejected. There is not a preference for the gifts.
